Class-X Session 2022-23
Subject - Science (086)

Sample Question Paper - 39

With Solution

"SWIBLL SB|OUSH ¥R By} apisul usalb mquing augj Bjiys ‘ssded BIWES BU) U PAYSE SUONSEND |0 IBQINU SEOUBP JEMIE] B} BRIEING Uaal JBQUNU 81| »

A

d 3

Nna1ga

& (zeml {ezoh BumIAIF NG| EL
g (L2001 (gL Loz waung 183 jo mioayg meubey| 21
L} (SEDL FEDM el ] MpupalEl ool
v (62 DL {80h PROgA INENGI0D pUB 847 UBLINH| 0L
g {2 alls (e ol aLo uoiIRley pue wonssuey -MBn &
¥ {szoh (6L'5L002 uognioag pue AppessH| g
g (geol =T8 (%2 snpoudey wewedig op moH| o
L LLEDIL (GZ0L (€Ll UOfEIpIO-07) pUe [anuedl 9
[ (rEDIl (zz0h (0Z'ZLONE sesselald B
L {ge0lt (£'s'vOlE spunoduiog &) pue voamDl ¢
] (el (4O LZDN {soh S|BULFUON pue Sley]  ©
g gzl {izoh ¥Rt 4 El[Bg pue saseg 'spay|  F
5 (EeoiL (£'zolE sUDNEND3 pue suoioeay ENwSyD| |
oN D oD | ov® | ovD | wND
| eEmy HEN S SN E sgENZ | WEWL
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This question paper consists of 39 questions in 5 sections.

All questions are compulsory. However, an infernal choice is provided in some gquestions, A student is expected (o attempd
only one of these questions.

Section A consisis of 20 oljective fype questions carrying | mark each

Section B consizts of & Very Short Answer iype questions carryving 02 marks each. Answers to these questions should in
the range of 30 to 50 words.

Section C consisis of 7 Short Answer iype questions carrying 03 marks each. Answers o these questions should in the
range of 50 o 80 words

Section ID consisis of 3 Long Answer type questions carrying (05 marks each. Answer 1o these questions should be in the
range of B0 1o 1 20 words,

Section E consists of 3 source-hased ‘case-based units of assessment of 04 marks each with .~:u|_'|-|'|9r|t;.

SECTION-A
Select and write one most appropriate option out of the four options given for cach of the Questions 1 to 20
During the preparation of hvdrogen chloride gas on a humid day, the gas is usually passed through the guard tube contaming
calcium chloride, The role of calcium chlonde aken in the guard tube is o

(a} absorb the evolved gas (b} moisten the gas

(e} absorb moisture from the gas (d} absorb CF jons from the evolved gas

Lead nitrate on decomposition gives-

(@) lead oxide (b} mitrogen dioxide () oxyveen (dy  All of these

Which one of the following processes involve chemical reactions?

(ad Storing of oxygen gas under pressure ina gas cvlinder

ib} Liguefaction of air

(ch Keeping petrol in a China dish in the open

(d) Heating copper wire in the presence of air at high temperature.

Observe the following pairs of organic compounds ;

M CHOHandC.H, OH (i) CH,OHand C.H OH
(m) C.H,;OHand C_H,OH

Which of these pair 15 a homologous secies acoording o incraasing order of carbon atom?

{a} {iii)only iy (inponly ich (iponly idy  All of these
The composition of agua-regia is
(o} xRl HCI z Cone. HNO,
3 ] I
(b Cone HCI 2 [nl. HNGO,
3 : I
e} Cone.HCI . Cone HNG,
3 : I
(d) DNLHC] i DAl HNO,
3 4 I

Carbon exists in the atimosphere in the form of

(a} carbon monoxide emly,

(b} carbon monoxide in traces, and carbon dioxide
(¢} carbon dioxide only.

(d} coal
‘Drinking aleohol” is very harmful and it ruins the health, *Drinking alcohol” stands for —
(al drinkimg methyl aleohol b} drinking ethy alcohaol

(¢} drinking propy] aleohol (dy  drinking isopropyl aleohol
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A student sitting on the last bench in the class cannot read the writing on the blackboard clearly but he can read the
book lving on his desk clearly. Which of the following statement is correct about the student?

{a} The near point of his eves has receded away.

(b} The near point of his ¢yes has come closer 1o him.

{c}) The far point of his eyes has receded away.

(d} The far point of his eves has come closer to him.

20 coulomb charge is flowing in 0.5 second from a point in an electric circuit then value of electric current in amperes will be
(@) 10 by 40 ich 0005 idy 005

Ifthe speed of light in medium | and medium 2 are 2.5 = 10° ms~"and 2 = 10* ms~', respectively, then the refractive index of
medium 1 with respect to medium 2 is

3 2 x5 25
(a) 35 ih) 33 () 5 () =
The strength of magnetic field inside a long current carrying straight solenoid is
{a} mare at the ends than at the centre (b}  minimum in the middie
(ch  same al all poinis (dy  found o increase from one end 1o the other
The normal svstolic and diastolic pressure is about
{a} 120mmHg and 80 mmHg by &0 mmHg and 90 mmHg
(e} 90mmHg and 120 mmHg idy 120mmHg and 90 mmHg

What is the correct direction of flow of electrical impulses?

i E :h :., — —h 3 4
[H} ¥ o 7 — " t j
N— o s— — 1 .-'_‘ —p

Oifspring formed by asexual method of reproduction have preater similarity among themselves because

(il asexual reproduction involves only one parent

() asexual reproduction does nod involve gametes

(i) asexual reproduction occurs before sexual reproduction

(iv) asexual reproduction occurs afier sexual reproduction

fa) (i) and (i) by (ipand (i) fc  (iryand (iv) (d} (in)and (1v)
State which law is shown in the given figure

RR WY

Parens Red Whine

Cametes

F, Generation

{]un'u.'h::l—.
F, Generation
1'1'l'l| F
I Reidz I Fink - | White I

ja} Lawof dominance ihy Crossing over

(¢} Law of independent assortiment (dy Mone of these



16,

Refer to given below diagram and choose the correct option

() A-copper T - Bimplanis by A -Jubeciomy, B - implants
€}  A- Vaseclomy, B - Tubestomy id} A -copper T, B - Tempons

Directions: ().No. 17-20 are Assertion - Reasoning based questions: These consist of two statements — Assertion | A) and Reason
{R). Answer these questions selecting the appropriate option given below:

{2}  Both Aand R are true and R is the correct explanation of A
(b1 Both Aand R are true and B is not the correct explanation of A
(€} Avis true but R is false
(di A s False bul R 15 true
17.  Assertion ; Afier white washing the walls, a shine white finish on walls is obtained after fwo to three days,
Reason : Calcium Oxide reacts with Carbon dioxide to form Calcium Hydrogen Carbonate which gives shiny white finish.
18.  Assertion : Force experienced by moving charge will be maximum if direction of velocity of charge is perpendicular 1o
applicd magnetic field.
Reason : Foree on moving charge is independent of direction of applied magnetic field.
19, Assertion: The Dower colour of sweel pea shows the inheritance of complementiary zenes,
Reason: The ratio obtained for complementary gene is9: 7.
20, Assertion: Fishes use gills, whereas reptiles, birds and mammals respire through lungs.
Reason: Amphibians like frogs can respire through their moist skin also.
SECTION-B
Q. o, 21 to 26 are Very Short Answer Questions.
21. Mame the gas which is liberated when an acid reacts with a metal. Hlustrate with an example. How will you test the presence
of this pas?
OR
State reason for the following :
ii) Mon-metals cannot displace hydrogen from the acids.
(i} Hydrogen is mot a metal, vet it is placed in the activity series of metals,
1.  Why is sino-atrial node also called pace maker ?
23.  Accumulation of harmful chemicals in our bodies can be avoided. Explain how this can be achieved?
4. Show how would you join three resistors, cach of resistance 9 €3 so that the equivalent resistance of the combination 1s (i) 13.5 €2,
(iip6aLn?
OR
ia)  Write Joule's law of heating,
(b} Twolamps, one rated 100W; 220V, and the ofher 60 W, 220V, are connected in parallel to eleciric mains supply. Find
the current drawn by two bulbs from the line, if the supply voltage is 2200
25, Mendel blended his knowledge of Science and mathematics tokeep the count of the individuals exhibiting a particular trait in
each generation. He observed a number of contrasting visible characters controlled in pea plants in a field. He conducted
many experiments to arrive at the laws ofinheritance,
{a} Ifonly one pair of contrasting characters like tall and short plants 15 taken, plants obtained in F1 generation are not of
medium height, Why 7
(b} Mame the recessive trails in above case.
(¢} Mention the type of the new combinations of plants obtained in F, progeny along with their ratio, if F, progeny was
allowed 1o self pollinate.
26, What arc plant hormones? Give two different types of plant hormones and state their function briefly,
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SECTION-C
Lo, 27 1o 33 are Short Answer Cuestions,

What is a solenoid? Deaw the pattern of magnetic feld hines of (i) a current carrying solenoid and (1) a bar magnet. List

twor distinguishing features between the two ficlds.
OR
When does an electrie short circuit occur?
Differentiate between:
(a}) Strong acid and Weak acid.
(b} Strong acid and Concentrated acid.

Siate the cause of dispersion of white heht by a glass prism. How did Newton, using two identical glass prisms, show that
white light is made of seven colours? Draw a ray diagram to show the path of a narrow beam of white light, thought a
combination of two identical prisms arranged together in inverted position with respect o each other, when it is

allowed to fall obliquely on one of the face of the first prism of the combination.
What happens when:

1) Accidentaly, Planaria gets cut into many picces?

(i)  Brvaphdium leaf falls on the wet soil?

(h1) On maturation sporangia of Biizopns bursis?

Acspherical mirror produces an image of magnification — lon a screen placed at a distance of 30 ¢m from the mirror.

1) Write the type of mirror.

ifi) Find the distance of the image from the object.

(wi) What is the focal length of the mirros?

(iv) [raw the ray diagram to show the image formation in this case.
What is ozone? How and where is it formed in the atmosphere?

Giive chemical equation to show the changes that occur when green colourced ferrous sulphate crystals are heated.

SECTION-D
oo 34 1036 are Long Answer Croestions,

(@)  Drawa diagram of excretory system in human beings and label the following parts. Aorta, kidney, urinary bladder and urethra.

ib)  How is urine produced and climinated?

(M With the help of cirouit diagram derive the formula for the equivalent resistance for three resistance connecied in series?
{ti) Three resistors are connected as shown in the following figure. Through the resistor 5 ohm a current of 1 A s flowing.

4

¥
=

A

I amp.

R,

1542

(@) What is the tal resistance?
(b} What is the potential difference across AB and BC?
{c}  What is the current through other two resistors?
What 15 an alloy? Mame the constitwents of {a) brass (b)) bronze (¢ solder. Give ane use of each.
ORr
(@}  Which metals does not stick (o glass 7
(b} Which metal is commonly used in thermit welding 7
(e} What is the nature of zine oxide 7
(d}  Will the CO (carbon monoxide) change the colour of blue litmus solution ?
(2} What is the nature of phosphorus oxide 7



SECTION-E

Oni 37 1o 39 are case = hased/data=based questions with 2 to 3 short sub= paris, Infernal cholee is provided inone of these sub-paris.

37.

18,

19,

Read the following case/passage and answer the questions.
While conducting experiments to study the effect of various stimuli on the plants, 1t was observed that the roots of a plant
X grow and bend towards two stimuli A and B but bend away from a third stimulus C, The stemy of the plant X, however,
bends away and from stimuli A and B but bends towards the stimulus C. The stimulus B is known to act on the roots due to
oo much weight of the earth. Keeping these points in mind, answer the following questions,
1) What could stimulus A be?
{ii} MName the stimulus B.
(i) What could stimulus C be?
(v} The branches of a fallen tree in & forest grow straight up in response to two stimuli. What could be these two stimuli ot
of A, Band C? Also name these two stimuli.
L
(i) How does a plant react to stimuli?
(i} Why the roots of a plant bend towards stimuli A?
Read the following case/passage and answer the questions,
Reactions in which an atom or a group of atoms 15 replaced by some other atom or another group of atoms without causing
any change in the structure of the remaining part of the molecule, are called substitution reactions.
All organic compounds containing double or triple bonds give addition reactions, i.e., alkenes, alkynes and aromatic
hydrocarbons give addition reactions,
Reactions in which the compounds react with oxvgen and form carbon dioxide and water is known as combustion reaction.
This process occurs with release of great amount of heat.
{a) Define substitution reaction with example.
{b} ldentify the types of reactions:
{ CH,=CH,+H,—CH,-CH,
i) C,H,+0,—-2C0,+3H0
OR
(B i} Combustion reactions are exothermic-comment,
{il  Why is the conversion of ethanol to ethanoic acid an oxidation reaction?
Read the following case/passape and answer the questions.
A thin spherical lens with refractive index greater than that of surrounding behaves as a convergent or convex lens i.e.
converges parallel ravs. 1ts ceniral (e paraxial) portion is thicker than marginal one. ITa number of lenses are placed in close
contact with esch other, then the power of the combination of lenses is equal to the algebraic sum of the powers of individual
lenses,
{a} What is the importance of optical centre of lens?
{b) I focal length of a convex lens is 200cm, Find it's power.,
{c} Power oflens is 4 diopter. Find °F in cm and name the lens.
OR
(i) Find the power of a concave lens of focal length 2 m.
(i} Define 1 dioptre of power of a lens.
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SAMPLE PAPER-%

(¢} Calcium chloride is a good dehwdrating ageni so
calcium chloride {CaCl; b will absorb modsture from the gas
(HCT

() 2Pb(NO; ) —2s 2PBO + 4NDY, + 05

dy When one or more reactant{s) react o form new
substance(s) with entirely different properties, the reaction
15 called chemical reaction.

In optiom (d). copper reacts with oxyeen o form copper
oxide (chemical reaction),

20U +0y ——» 2Cu0

Linpger Loppet

Wik axile
(e} C,HOHand C.H,,OH represent homologous series
in increasing order of C atoms, other two also represent
homologous series, bul in decreazing order because they
differ fromn each other by a CH. group.
CH,CH,CH-CH,OH, CH.CHCH-CH.CH,OH
(e} Cone. HCland cone. HNO, in 3 : | ratio form aqua-regi.
m 7. M & @ % M) 1. (b
{e) The strength of magnetic field lines inside a long
current carrying straight solenoid same at all poinis
because the magnetic Geld lines are straight, egqui-spaced
and parallel o the axis of solenoid and thus wniform
magnetic feld exist inside the solenoid.
(@) The nermal systolic and diastolic pressure is about
120vE0mmHg.
(e) Correct direction of flow of electrical impulses 15 as
fol lewss:
Impulse — Dendrite — Cell body — Axon — Release of
chemicals that cross synapse — Dendrite of next neuron
{a) Offsprings have greater similanty because only one
parent is imvolved in asexual reproduction thus, no
gametes formation. Asexual reproduction is based on
mitosis i.e., division of a nucleus into two identical daughter
nuclei. Each daughter nucleus has similar genetic make up
because of replication of parentals DNA. The new
offsprings produced are called clones.
(€} The figure is showing bow of independent assortment,
(a) Aisrefer for copper T and is for B is for implants.
(e} Suspension of calcium hydroxide Ca(OH), is used
i white wash. [treacts with CO, in air 1o form a thin layer
of calcium carbonate (CaCOy) on the walls which gives
shiny white finish after two or three days,

18,
1%
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21.

2.

23

24.

i€}

{a) Both Assertion and Feason are correct and the

Reason is a correct explanation of Assertion.,

9 purple and T white flowers are obiained in sweel pea

{ Lathvrus odoraing).

M Both Assertion and Reason are correct but Reason

is not a correct explanation of Assertion.

Mammals have a well-developed respiratory system.

Hydrogen gas 15 hberated when an acid reacts with a metal,
{1 mark)

During reaction of zinc with dilute hydrochloric acid,

colourless gas (H,) with pop up sound is evolved.

ZHCI+ Zn——ZnCls +H, T (1 mark)

DR
{iy  Mon-metals do not donate electron, they cannot
supply clectrons 50 as to convert H™ ion to Hy{g).
{1 mark)
(i} Like metals, it has propertics to lose an clectron to
form positive HT ion. (1 mark)
simnc-atrial aode also called pace maker because if
determines the rate of heart beat by determining the rate of
(.2 marks)
We should have to drink plenty of water, eat healthy food
perform exercise and not take stress to avoid accumulation
of harmful chemicals in our body, We should eat mare
vegetables ie, cruciferous vegetables (such as broceoli,
cauliflower, etc.) than meat, {2 marks)
{iy For getting a resistance of 13.5 03, the two resistors
should be connected in parallel and one in series
with them,

discharge of cardiac impulse.

The equivalent resistance of the two resistors in
prarallel, H.I i= given by

1

:
—_
R, 9

=R, =450 p—

o | -
o | k2

Now, the equivalent resistance of B_and 9 {2 in series

b5 miven by
90
—WWVA—
L
90

R=R +9=45+9=1350 {v2mark)


user
Typewritten text
Solution


(i} To get a resistance of 4 £}, two resistors should be
connected in series and one is parallel to them.
The equivalent resistance of the two resistors in

series is given by
R, =90+90 =180 i mark)

Mow, the aquivalent resistance of Rpﬂmi 9L in parallel

is given by
oL 9142
—ANAAA AN —
] 94 -
WA

R=&0 {2 mark)

(2] Joule’s Law of Heating: It states that the amount of

heat produced in a conductor is

{i) directly proportional to the square of current
passing through it, i.e, H = ' (i}

{ii) directly propoticnal to the resistance of
conduector, 1.2, H = B ... (i)

{Hi) directly proportional to the time for which current
passed, ie, H=i v L HLT)
Combining (i), (i) and (iii). H = FRL
Here, conatant of proportionality is 1,
. H=TRt joule

Resistance of first lamp = R,

Resistance of seeond lamp = R,

{1 mark)
(b

w
W 220 22
R =—" R1 = —-—EE—E
F ' FH
220% “"1"1} 2420

2 (i}
They are connected in parallel

S | 1 1

1
—_———
R R, R, 484 2420

=4840

L4

{2 mark])

484 = 2420

[=0T27TA
i.¢., current drawn by two bulbs, [ =0.727 A,
b2 mark)

25,

2.

7.

{a} Ifonlyone pair of contrasting characters is taken. f|
generation either shows tall or short characterstic,

a5 1t follows law of dominance where only dominant

character expres itself. (1 mark})

(b1  Shor plant have recessive trail. b2 meark)
ic)

T it

[ Tall plamnt) i Short plant)

4 1
Cramete § t
f, Gien. \ Tt / « Tt (crossing)
f, Gen, TT, Te, Tt, tt
Phenotype Ratio —» 3 : | % mark)

The chemical compound released by stimulated cells for

control and coordination in plants are called plant

hormones or phytohormones. i1 mark)
Auxin - controls growth
Gibberelling - helps in growth of stem (1 mark)

Cytokinin - promotes cell division (any twao)

Abscisic acid - Inhibits growth, wilting of leaves

A solenoid is a long cotl of wire wrapped in many turns.
When a current passes through it, it creates a nearly
uniform magnetic field inside. (1 mark)
Pattern of magnetic field lines of

{iy A current carrying solenoid

||‘||‘u.'1'.
A .ﬂt

A

(Y% mark)

i ¥4 mark)
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9,

Two distinguishing features between the two fields:

Solensid Bar Magnet

(1) It produeces very sirong
magnetic fekd.

(1 I produces weak
magnetic ekl

(2} lis strength cannot

be changed.

(21 Itz strength can be
changed by changing

curment or tums.

{1 mark)
o

Electric short circuit occurs when

i) a current of valug more than its rating passes
throwgh a wire;

i) the live wire touches with the earth or newiral-wire;

()

(v}

ia} A strong acid in aqueous solution ionises to a large
extent therelw producing a high concentration of
hydrogen ions. For example, HCL H 80, and HNO,.
Whereas, a weak acid ionises partially in aqueous
solution toa smaller extent and contain ions as well
as molecules, Forexample, acetic acid, carbonic acid
and formic aced. i 1% marks)

the insulatiom of the wires 15 weak;

over load is provided in the circuit, i 3 marks)

(k) Strong acids are those which ienize completely in
solution, For example, H1, H.50,. A concentrated
acid has more moles of acid per litre of its solution as
compared toa dilute acid, For example, Cone, H,50,
has more moles of acid per litre of its solution as
compared to dilute H,50,, (1% marks)
Light 15 formed of different colours which travel at their
own speed inside a prism. Due to which the light bend the
through different angles with respect to the incident ray,
as they pass through a prism. The red light bends the
least while the violet most causing dispersion this can be
explained by the fact that light of ditferent colours having

different wavelengths has different velocities while

travelling in a medium v_=na_. (1 mark)

Mewton showed that the reverse of dispersion of light 15
alzo possible, IFwe kept two prisms close o each other
o in erect position and the other in an inverted position,
The light get dispersed when passes through the first
prism. The second prism receives all the seven coloured
rays from frst prism and combines into original while Light
i.e. , recomnbine the different colour of spectrum & hence
gives white light. This proves that white light is made of

sevien  colours (1 mark}

Diagram:

Screen

A P

3.

3.

{Dhspering Prism)

(i

i)

{m}

{ii)

{ii)

{1v}

{Becombination Prism)

{1 mark)
Planaria on being cut into many pieces, cach piece
regenerates intoa new individual. (1 mark)

When Brvopdellenn leal falls on the wet soil, the bads
that are developed in the notches along the leaf will
develop inte new planis via a process known as

i1 mark)

when the matured sporangia of Rkizops burst open,
it releases spores which germinate info new mycelium
(1 mark)

As magnification 15 negative, the image formed by

vegelative propagation,

in maist conditions.

mirror is real,

Hence, 1t 15 8 coneave mirror. (1 mark)

Magnification m=—vu=-1
u=1v=-="5¢cm

Distance of the image from the object

w—r == 50— (=50)=0¢cm

By using mirror formla:

= le+ 1iu

= (= 50) + 14— 50) =— 1,25
f=—25cm

(1 mark}

(5 mark)

e o)
¥

Olject

Image

-

(= mark)
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Crone 15 molecule which contains three atoms of oxygen
(3;}. It is highly poisonous gas present on the upper layer
[+ =1 mark)
Formation of czone — The UV radiations split some
molecular oxygen (O,) apart mto free oxygen aloms
(O + O, These atoms then combing with molecular oxygen
(o form ozone,

of the atmosphere.

03— 4 0+0

0+0, —0y
[ Ozome |

2 marks)

On heating, FeS0), crystals lose water and anhydrous
FeS0, is formed. so colour of erystals changes to white.
On further heating, FeS0, decomposes to form 50, 50,

and a brown iron oxide. (2 marks}
Heat
FeSO, . TH,0— }FEE:D4+TIIED (v mark)
i green fadinte)
(anhsdrous form )
2Fe80, — =2 Fey 0y + 50, + 50, (14 mark)
{white) { Brown )
(a)
At t ‘ JRenal Wein
Vena Cavas, ™ Reisal Amery
Adrenal gland f
Ellcdmniy- [/
Ureter-
(245 marks)
-Blsidder
+Urethra

’

(b1 Each kidney has large numbers of these filieation anifs
called nephrons packed close together., Some
substances im the initial filirate, such as glucose,
amino acids, salts and a major amount of water, are
selectively re-absorbed as the wrine flows along the
fube, The amount of water re-absorbed depends on
how much excess water there is in the body, and on
how much of dissolved waste there is (o be excreted.
The wrine forming in each kidoney eventually enters a
lomg mibe, the wreter, which connecis the kidnevs
with the urinary Bladder, Urine is stored in the urinary
Mladder until the pressure of the expanded bladder
leads to the urge to pass it out through the urethra.

(2% marks)

(i) Tofind out the total resistance of a circuit in which
3 resistances are connected in series ;
Jresistances — R, R, and R, are connected in series
and put in a ¢ircuif as shown in figure, The circuii has
cell of voltage “V*° which supplies curcent | ampere.
When current | flows through the circuit, it remains
same in each resistance but PD gets distributed in
these three resistances, i.e, ¥V, V,, Vyacros B, R,
R3 respectively.

According to Ohm's law, V=1R
Therefore, V| (across resistance B )= IR,
¥, (across resistance B, )= IR,

W, (across resistance R, )= IR,

Since, V= ‘h"l -+ ‘l.-’2 + 1"'?3

= IR—'iH| _lﬁj +]R_1.
:rlﬂ“”Rq + H.:_I- + R;}

= R= R+ Ry + Ry { | mark)
I Wy ; ¥; i 3 |
R, R, ey
1
= Ik
v
{1 mark)

Conclusion : It means if two or more resistances are
connected in series then the total resistance of the
circuit 15 equal to the sum of individual resistances,
Therefore if *n” resistances are connected i series
then total resistance 1s,

B= H| + RE + R_‘; y pLes el LR R—n'
(i) Ry =56, Ry =108, Ry =15651=1A

1 1 | I 1 3+ 5§
{“] _|=_+_=_+ = o= —
R R, R, 10 15 30 30
D
R===60
R=R,+ R =5+6=110 (1 mark)
MNow, V=IR=1=11=11V
bl Vi=IR)=1=5=3V,
Thitrehors, Vo =V V=11 -5=6V  {linak)
vV, B
Vea=1L R [[| === ===16A,
<l vi | R = | R, 10 H
* Ry 15
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An alloy 15 a homogencous mixture of two or more metals
or a metal and a non-metal.

{a) Brassisan alloy of Cu and Zn,

{b) Bronze s an alloy of Cu and Sn.

() Solder is an alloy of Ph and Sa.

Brass is used for making cooking utensils, screw, nuts,
bolts wires etc,

Bronze is used for making cooling pipes, utensils, statues.

Solder is used for welding eleciric wings, (3 marks)
OR

{al Mercury (Hg) (b1 Adumkinium

{c)  Amphoteric {d) Mo, its a neutral gas

(e} Acidic (5% 1=35marks)

{i)y Water (1 mark)

(i) Gravity i1 mark)

{iiiy Light (1 mark}

() Band C; Gravityand Light (Sunlight) (1 mark)
OR

{1} Likeall organism, plant defect and respond to stimuli
in their environment.

{iit  This is due to stimulus of gravity

{a) Reaction in which an atom or group of atoms are
replaced by other atom or group of atoms without
causing any change in the structure of remaining
part of the molecule is known as substitution
reaction.

Example: CH, + CL, — CH.Cl+ HCl (1 mark}

(b} 1y CH,=CH,+H,—CH,—CH,; Addition reaction
i1 mark)

i} C.H, + 0y — 200, + 3H, O Combustion reaction

i 1 mark)

39,

OR

While a compound reacts with oxyeen in a
combustion reaction a great amvount of heat is
generated, This is why combustion reactions
are exolhermic reactions, (1 mark)

(k) (i)

Alkzling Khndg, A
ar Acidified K zl:'r:lf_".'l-l- .

(i) CHLCH,0H +CHLCOOH
In the conversion of ethanol toethanoic acid oxygen gets
added to the product. So the reaction is oxidation reaction
and these substances (KMnO or K,Cr,0,) are known as
oxidizing agenis, {1 mvark)
{a) (i} A ray passing through the optical centre, is
displaced but not deviated. But in thin lenses the
displacement is very small which can be neglected,
{1 mark)
(ii} Optical centre of a lens can be within the lens or
outside, depending on the nature of lens.
(%4 = 2= | mark)
(b} =20cm{convex lens)=10.2m,
1

P =%=—=5 diopter

"3 (1 mark)

1 1 .1
€} P=4D P=—=d===f==

f f 4
F={0.2% = [00}cm=23cm

=0.25cm (1 mark)

It 15 a convex lens ('F 15+ ve) (1 mark)
OR
M Ff==2Im
[ | :
P=-F7_—2—--D.51J3q:ltrﬂ (1 mark}

{1l When the focal length of a lens is one metre then the
power of lens is called one dioptre. (1 mark)
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